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1 wvoid f(int 1, int r){

if(1 >= r) return;

fa + 1, r);

swap(a[1], a[(+r)/21);
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1 wvoid solve(){

2 ans[0]=(Clong Tong) (n-r+1)*(m-r+1);

3 for(int i=1,x,y;i<=k;i++){

4 cin>>x>>y;

5 for(int i=max(l,x-r+1);i<=min(x,n-r+1);i++){
6 for(int j=max(l,y-r+1);j<=minCy,m-r+1);j++){
7 pair<int,int> cur={i,j};

8 ans[mp[cur]]--;

9 ans[mplcur]+1]++;
10 mplcur]++;
11 }
12 }
13 }
14 for(int i=0;i<=k;i++) cout<<ans[i]l<<'\n';
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1 11 ans = 0;

2 for(int k=0;k<=n;k++){

3 cnt[k] = fac[k] * gpow(k+1l, n-k) % P;

4 ans = (ans + k * (cnt[k] - cnt[k-1] + P) % P) % P;
5 1%

6 ans = ans * gpow(fac[n], P-2) % P;

7/ cout<<ans<<endl;
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#include<bits/stdc++.h>
using namespace std;
#define MAXN 500005

pair<int,int> OR(pair<int,int> x, pair<int,int> y){
return {min(x.first,y.first), max(x.second,y.second)};

}
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9 pair<int,int> AND(pair<int,int> x, pair<int,int> y){

10 return {max(x.first,y.first), min(x.second,y.second)};
11 3}

12

13 1int n,m;

14  vector<pair<int,int> > adj[MAXN];

15 pair<int,int> ok[MAXN], ban[MAXN];

16  int vis[MAXN];

17 1int ans[MAXN];

18

19 1int fa[MAXN];

20 dint findr(int x) { return (fa[x]==x)?x:fal[x]=findr(falx]);?}
21 bool find(int 1, int r, int V{//#F[1,r]1 X[ F 2 — PN AV
22 //if(1 > r) return O;

23 int x = findr(1);

24 if(x <= r){

25 ans[x] = v;

26 fa[x] = x+1;

27 return 1;

28 }

29 return 0;

30 }

31

32 dint mainQ{

BB cin>>n>>m;

34 for(int i=1,1,r,v;i<=m;i++){

35 cin>>I>>r>>v;

36 adj[v].push_back({1,r});

37 if(v == n+l && r-1+1 < n+1){
38 cout<<"-1";

39 return 0;

40 }

41 }

42

43 ok[n+1] = {0,n};

44 for(int v=n;v>=1;--v){

45 ok[v] = ok[v+1], ban[v] = {n+1,-1};
46 for(auto p:adj[v]){

47 ok[v] = AND(ok[v], p);
48 ban[v] = OR(ban[v], p);
49 }

50 }

51

52 //fa

53 for(int i=0;i<=n+1;i++) fa[i] = i;
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55 for(auto p:adj[0]){

56 vis[p.first]++;

57 vis[p.second+1]--;

58 }

59

60 bool flag = 0;
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for(int i=0;i<=n;++i){
if(i>0) vis[i] += vis[i-1];
if(vis[i]) continue;

if(ok[1].first<=1 && i<=0k[1l].second){

ans[i] = 0;
fa[i]l = i+1;
flag = 1;
break;

if(flag == 0){

cout<<"-1";
return 0;

}

/ /I v=1~n

for(int v=1;v<=n;++v){

int 11 = ok[v+1].first, rl = min(ok[v+1].second,

ban[v].first-1);
if(find(11, rl1, v)) continue;

int 12 = max(ok[v+1l].first, ban[v].second+1l),

ok[v+1] .second;
if(find(12, r2, v)) continue;
cout<<"-1";
return 0;
}
for(int i=0;i<=n;++1) cout<<ans[i]<<
return 0;
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